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Guess Paper – 2010
Class – X

Subject – Maths    
Time : Three hours                                                                                              Max.Marks :80

General Instructions.

1. All Questions are compulsory.

2. The question paper consists of thirty questions divided into 4 sections A, B, C and D.

Section A comprises of ten questions of 01 mark each, section B comprises of five

questions of 02 marks each, section C comprises of ten questions of 03 marks each and

section D comprises of five questions of 06 marks each.

3. All questions in Section A are to be answered in one word, one sentence or as per the

exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in one question of

02 marks each, three questions of 03 marks each and two questions of 06 marks each.

You have to attempt only one of the alternatives in all such questions.

5. In question on construction, drawings should be neat and exactly as per the given

measurements.

6. Use of calculators is not permitted.However you may ask for mathematical tables.

===========================================================================

SECTION   A

1 .Find the median from the following 

     If  mean=49.7  and mode=46.1 of a data is given
2  If 793800 = 23 3m 5n 72, find the value of m and n.
3 A die is thrown once. What is the probability of getting an odd  number?

4 If the sum of first n terms of an A.P is 3(n2 – 2n), find the A.P and its 19th term
5.Find the perimeter of a sector of a circle with diameter 14cm if angle of the sector is 720 

6 Evaluate:
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7 Find the value of k, if 
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x is a solution of equation kxx20?
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8 A car travels 0.99 km. in which each wheel makes 450 complete revolutions. Find radius of wheel. 
9 State Euclid.s Division Lemma.
10 Abscissa is ___________

SECTION   B

11 Find the value for K for which x2 + 10x3 + 25x2 + 15x + K exactly divisible by x + 7.
12 In Fig.  chords AB and CD intersect at P. If AB = 5 cm, PB = 3 cm and PD = 4 cm, find the length of CD. 
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DEF are similar.The area of [image: image6.png]


ABC is 9 sq.cm and area of [image: image7.png]


DEF is 16 sq.cm. If BC = 2.1 cm, find the length of EF. 
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 15 The perpendicular AD on the base BC of a [image: image10.png]


ABC intersects BC at D so that DB = 3CD. Prove that
SECTION   C

16  The area of triangle is 5 . Two of its vertices are ( 2 , 1) & ( 3 , -2 ) . The third vertex lies

on y = x + 3. find the third vertex. ?

17  It is proposed to add to a square lawn measuring 58 cm on a side , two circular ends. The

centre of each circle being the point of intersection of the diagonals of square. Find the

area of whole lawn ?
18 Construct a ΔABC with BC = 7 cm, angle B = 45o, angle A = 105o Then construct a triangle similar to given        triangle such that each side of the new triangle is   4/3 of given triangle.

19 If pth  term of an AP is q and the qth term is p, prove that its nth term is (p + q - n).

(OR)
 If m times the mth  term of an AP is equal to n times its nth term, find its

(m + n) th term. In an AP, prove that t m + n + t m - n = 2t m.

20 D is the mid- point of side BC of Δ ABC. AD is bisected at the point E & BE

produced cuts AC at the point X. Prove that BE : EX = 3 : 1 ?

                                                     ( OR )

A circle touches the side of a quadrilateral ABCD at P , Q , R , S respectively . Show

that angles subtended at the centre by a pair of opposite sides are supplementary.

21 Prove : ( Sin A + Sec A ) 2 + ( Cos A + Cosec A ) 2  = ( 1 + Sec A Cosec A ) 2
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In the fig. ABC and DBC are two triangles on the same base BC. If AD intersects BC at O, show that ar(∆ABC) : ar(∆DBC) = AO : DO.

23 . Draw the graphs of the equations x - y - 10 = 0 and 2x - 3y + 20 = 0. Also

determine the vertices of the triangle formed by the lines and Y axis and find

its area .

24 In fig., a square OABC is inscribed in a quadrant OPBQ. If OA = 20 cm, find the area of the shaded region.   ( use 
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SECTION   D

 25 A right circular cone of height 20cm and vertical angle 60 is cut into 2 parts at the middle of its height by a plane parallel to base. The frustum so obtained is drawn into a wire of diameter 0.125 cm. Find length of wire. 
26 The students of a class are made to stand in rows. If 3 students are extra in a  row, There would be 1 row less. If 3 students are less in a row, there would  be 2 row more Find the number of students in the class using graphical method. 

27 A plane left 30 minutes late than its scheduled time and in order to reach the destination 1500 km away in time, it had to increase the speed by 250 km/h from the usual speed. Find its usual speed. 
                               or

if the angle of elevation of a cloud from a point ‘h’ meters above a lake is ‘β’ and the angle of depression of its reflection in the lake is ‘α’.  Prove that the height of the cloud is given by   h [tan α + tan β / tan α – tan β].

28 wooden toy rocket is in shape of a cone mounted on a cylinder as shown in figure. The height of entire rocket is 24 cm while the height of conical part is 6 cm. The base of conical portion has a diameter of 5 cm, while the base diameter of cylindrical portion is 3 cm. If the conical portion is

29 Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct points then the other two sides are divided in the same ratio.

In the given figure, 
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, DE || BC so that AD = 2.4cm, AE = 32cm and EC=4.8cm. 
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30 If the mean of the following data is 52, find the missing frequency then find median

	Wages: (In Rs.)
	10 - 20
	20 - 30
	30 - 40
	40 - 50
	50 - 60
	60 - 70
	70 - 80

	    No. of Workers
	5
	3
	4
	?
	2
	6
	13
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